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B.A. Semester I (General) Examination, 2018-19

EDUCATION
Course ID : 10218 Course Code : APEDN-101C-1A
Course Title : Principles and Practices of Education
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions from the following: 2x5=10
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(a) What is meant by ‘Education’?

I @0 IR 2
(b) What are the factors of Education?

o Soimimefer e
(c) What do you mean by mass-media?
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(d) What is meant by Non-Formal Education?
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(e) Define Curriculum.
OTFCIT e Wl |

(f) What do you mean by Child-centric Education?
FRitferes i F@Tre F @I ?

(g) What do you mean by co-curricular activities?
TRAISET PR ETCS F (AT 2
(h) Mention two (2) objectives of co-curricular activities.
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2. Answer any four questions from the following: 5%4=20
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(a) Make a comparative study between narrow meaning and wider meaning of education.

farsia STRIel 12l @3 i LT ey (T AN ST FCA |

10217 Please Turn Over



AP-I/Education-101C-1A/19 (2)
(b) Mention the Qualities of a good teacher.
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(c) Make a short note on ‘School as an agency of education’.
il (o1l ¢ “fampier e @G s

(d) What do you mean by ‘Child-centric Education’? Write its significance.
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(e) Make a short note on mass-media.
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(f) What do you mean by ‘free-discipline’? Explain in brief the needs of free-discipline.
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3. Answer any one question from the following:
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(a) Define curriculum. Explain in brief the principles of curriculum construction.

AT AL W€ | AT NI FNIZ SCEG FCA |

(b) Make a comparative study between formal, informal and non-formal education.
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2+3=5

2+3=5

10x1=10

2+8=10



